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Multiply by powers of ten (missing number)

Name:

2.424 x

8.859 x

5.17

6.796 x

8.167 x

4.217 x

6.016 x

2.134 x

9.983 x

1.646 x

— 2424

= 885.9

= 5170

=679.6

= 816.7

=421.7

= 60.16

=21.34

= 9983

= 1646

1.655 x

4.818 x

8.73 x

Date:

6.141 x

8.079 x

6.981 x

3.296 x

9.342 x

1.309 x

2.484 x
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= 165.5

=48.18

= 8730

=61.41

= 80.79

= 698.1

= 3296

=9342

=130.9

= 2484

Score:
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Name: Date: Score:
2424 x 1000 = 2424 1.655 x 100 = 165.5
8.859 x 100 = 885.9 4.818 x 10 = 48.18
5.17 x 1000 = 5170 8.73 x 1000 = 8730
6.796 x 100 = 679.6 6.141 x 10 =61.41
8.167 x 100 = 816.7 8.079 x 10 = 80.79
4217 x 100 = 421.7 6.981 x 100 = 698.1
6.016 x 10 = 60.16 3.296 x 1000 = 3296
2.134 x 10=21.34 9.342 x 10 = 93.42
9.983 x 1000 = 9983 1.309 x 100 = 130.9
1.646 x 1000 = 1646 2484 x 100 = 2484
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